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. This Question Booklet contains 100 questions with weightage of

1 mark for each question.

Before attempting the question paper, kindly check that this booklet
has total 24 pages and OMR Answer Sheets are in triplicate. At
the start of the examination within first five minutes, candidates
are advised to ensure that all pages of Question Booklet and OMR
Answer Sheets are properly printed and Question Booklet is not
damaged in any manner.

The OMR Answer Sheet consists of three copies, the original copy, the
commission copy and the candidate’s copy. Do not separate or displace
them. Do not darken the bubbles in three copies of OMR Answer Sheets
separately. Candidate must hand over the OMR Answer Sheet without
separating the three copies to the invigilator at the end of examination.
Invigilator will hand over the candidate’s copy after separating it. The
candidates are allowed to take away this Question Booklet with them.

Please ensure that the Question Booklet Number and OMR Answer
Sheet Serial No. match with each other. In case of any discrepancy,
the candidate should immediately report the matter to the invigilator
for replacement of Question Booklet and OMR Answer Sheet. No
claim in this regard will be entertained after five minutes of start of
examination.

All the necessary particulars on the OMR Answer Sheet should be
filled carefully. Change of OMR Answer Sheet is not permitted.

Do not forget to write Roll Number on the top of this Question
Booklet and OMR Answer Sheet. Do not tear or fold any page of
the Question Booklet and OMR Answer Sheet.

Candidate has to fill one option compulsory out of five options
given. If a candidate does not know the answer, then he/she has
to fill the 5™ option (option ). Extra five minutes will be given to
mark 5" option, No marks will awarded against the 51" option as it
indicates that the candidate as not attempted that question.
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Which of the following cannot be the
probability of an event ?

(A) 0.4 (B) 4%

(C) 0.04% (D) 4

(E) Not attempted

Nominal Gross Domestic Product (GDP) is

(A) Gross Domestic Product (GDP)
evaluated at per capita income

(B) Gross Domestic Product (GDP)
evaluated at current market prices

(C) Gross Domestic Product (GDP)
evaluated at constant market prices

(D) None of the above
(E) Not attempted

In a certain code language, “in the end”
means “moh fijk omt”, “end is near” means
“azh moh bod” and “in near future” means
“omt azh epy”. What will be the code for
“near” ?
(A) moh
(C) bod
(E) Not attempted

(B) epy
(D) azh

What is the rank of Haryana among
Indian States in terms of software export ?

(A) First (B) Third
(C) Second (D) Fourth
(E) Not attempted

When was the first General Election of
India held ?

(A) 1948 — 49

(B) 1951 —52

(C) 1956 — 57

(D) None of the above

(E) Not attempted
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(A) 0.4 (B) 4%
(C) 0.04% (D) 4
(E) ITvfra

ATHET Hehel Tl 3Te (S.ELdt.) B

(A) ST =afed 3T TX Fearend fepam T
Hohel Tle] 3cTg (Sf1.€1.dt.)

(B) TAHM SR el T HoATeh Tkl
T Fehel TRl 3cdTe (Si.E1d.)

(C) TR STSIR HT TR qeaTeh Teohal T
gehel Te] 3carg (S.h.)
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fik omt” % “end is near’ %1 31¥ “azh moh
bod” % 3T “in near future” <1 31 “omt

azh epy”’ ® | “near’ & fotu % R g ?

(A) moh (B) epy

(C) bod (D) azh

(E) 3Tomfya
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(C) g&u (D) =
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(B) 1951 — 52
(C) 1956 — 57
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10.

The signs of abscissa and ordinate
of a point in the second quadrant are
respectively

(A) (= +) (B) (+ -)

(C) (+ +) (D) (=-)
(E) Not attempted

If sin®0 — cos®0 = 0, then 0 is
(A) 0° (B) 45°
(C) 30° (D) 90°
(E) Not attempted

What type of signal does Integrated
Services Digital Network (ISDN) use ?

(A) Analog
(B
(C
(D
(E

Digital
Hybrid

)
)
) None of the above
) Not attempted

Select the correct alternative that indicates
the arrangement of the given words in
the order in which they appear in English

Dictionary.
1. Prestige
2. Pristine
3. Prescribe
4. Prepaid
5. Premium

(A) 4,5,3,2,1
(C) 5,4,3,1,2
(E) Not attempted

(B) 5,3,4,1,2
(D) 4,5,3,1,2

Which canal irrigates Gurugram and
Faridabad districts of Haryana ?

(A) Bhakra Canal

(B) Bhiwani Canal
(C) Jawahar Lal Canal
(D) Gurugram Canal
(E) Not attempted
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Pristine
Prescribe
Prepaid
Premium
(A) 4,5,3,2,1

(C) 5,4,3,1,2
(E) ITvmfra
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(B) 5,3,4,1,2
(D) 4,5,3,1,2

(D) TeI™ &l
(E) 3=nfEa



11.

12.

13.

14.

Select the word from the given alternatives
which cannot be formed by using the
letters of the following word.

CONVERSATION
(A) NATION (B) STATION
(C) VERSION (D) REASON

(E) Not attempted

Which of the following pair is not correctly
matched regarding the Cabinet of Akbar ?

(A) Vakil — Chief Minister
(B) Diwan-i-Ali — In-charge of
Charities

(C) Diwan -
(D) Khan-i-Saman
(E) Not attempted

Revenue Minister
Home Minister

What is the name of the woolen muffler worn

around the neck by men in Haryana ?

(A) Guliband

(B) Kamari

(C) Mirjai

(D) Chaddar
)

(E) Not attempted

Which of the following is not true ?

2 5 5 2
A) ———=—-=

3 4 4 3
g 2,552
B) 37372373
o 2,5.5.2
© 3737373

2 5 2 4

_+_=_x_
(B) 3 4 35

(E) Not attempted
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15.

16.

17.

18.

Perfetti Van Melle India is located in

which district of Haryana ?
(A) Faridabad

(B) Ambala

(C) Gurugram
(D)

(E)

Sonipat
Not attempted

Article 21 of Indian Constitution states
that no person shall be deprived of his life
or personal liberty except

(A) By the President’s order
(B) By the Prime Minister’'s consent

(C) According to the procedure
established by law

(D) None of the above
(E) Not attempted

The meaning of Phulkari is
(A) A large part of villages of Haryana
(B) An art of making clay pots

D
(E

)
(C) An art of shawl making
(D) None of the above

)

Not attempted

Complete the following analogy.

All - /-\ ||V | ?
N
VI

(A)

(©)

(E) Not attempted

15.

16.

17.

18.

CE1G-25
giemn & fra 5o § Tkt 99 Ao sfean
@ e 2
(A) iTeTsTe
(B) AT
(C) Tea™
(D) @iiua
(E) 3ToRmfEa
IR |fau™ o Tgse 21 § el T
g Tor foret oft sfera st 3Tk Sftem =
e TededT ¥ afea T2 T S,
[EEIR]

(A) Trgufd & e @

(B) YU bl HEuld o
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(E) 3ranfEa
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19.

20.

21.

22,

23.

What does DSS stand for ?
(A) Digital Satellite Service
(B
(C
(D
(E

) Direct Satellite System
) Digital Satellite System
) Direct Service Satellite
) Not attempted

Ifa:b=5:7andb:c=28:09, then what
isthe ratioofa:c?

(A) 35:54
(C) 45:683
(E) Not attempted

(B) 40: 63
(D) 40:54

The National Voters’ Day is observed on
(A) 25" November

(B) 26™ November

(C) 30" December

(D)

(E)

25" January
Not attempted

What is the name of the mirror-studded ring
worn on the right hand thumb by women in
Haryana ?

(A) Anant

(B) Aarsi

(C) Kangni
(D)
(E)

Ponche

Not attempted

Which of the following was the partner State
of International Gita Mahotsav 2024 ?

(A) Gujarat

(B) Uttar Pradesh
C) Odisha

D) Rajasthan
(E)

(
(

Not attempted
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20.

21.

22,

23.
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(A) 35:54 (B) 40:63
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(E) STwmfEa

TS HAGTAT feard HHAm STt 3
(A) 25 Fde

(B) 26 Fd&
(C) 30 fear
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24.

25.

26.

27.

Which of the following diagrams
indicates the best relationship between
Quadrilateral, Rhombus, Polygons ?

(E) Not attempted

Which of the following is a joint venture
between Japan and France located in
Sonipat district of Haryana ?

(A) Nestle India

(B) Yakult Danone India Private Limited
(C) Glaxo Smith Kline

(D) Ranbaxy

(E) Not attempted

When was ASEAN (Association of South
East Asian Nations) established ?

(A) 1967 (B) 1985

(C) 1992 (D) 1949

(E) Not attempted

How many times President’s Rule has
been imposed in Haryana ?

(A) One (B) Two

(C) Three (D) None of these
(E) Not attempted

24.

25.

26.

27.
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28.

29.

30.

31.

A train travels at a speed of x km/hr for
2 hours, then decreases its speed by

10 km/hr and travels for another 3 hours.
If the total distance covered is 370 km,
then what is the initial speed of train ?

(A) 80 km/hr (B) 100 km/hr
(C) 90 km/hr (D) 60 km/hr
(E) Not attempted

In which year ‘Har Ghar Hariyali Yojana’
was launched in Haryana ?

(A) 2017 (B) 2016

(C) 2015 (D) 2018

(E) Not attempted

Which tier of Panchayati Raj is
responsible for rural development at the
district level in Haryana ?

(A) Gram Panchayat

(B) Panchayat Samiti

(C) Zila Parishad

(D) Gram Sabha

(E) Not attempted

Consider the following statements about
Ajanta caves.
i. They are located in the Aurangabad
district of Maharashtra.

ii. It has twenty nine caves, built over a
period of almost eight centuries.

iii. Cave number 26 is very big and
entire interior hall is carved with
variety of Buddha images.

iv. The biggest one is Mahaparinibbana
image.

Which of the statements given above is/are
correct ?

(A) Onlyiandii

(B) Only iii and iv

(C) Only i

(D) All of the above

(E) Not attempted
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29.

30.

31.
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32.

33.

34.

Badhkal Lake is located in which district

of Haryana ?
(A) Hisar (B) Faridabad
(C) Kurukshetra (D) Panchkula

(E) Not attempted

Choose the figure from the given alternatives
in which the following figure is embedded.

BY
>

&

(E) Not attempted

(A)

Be

(©) (D)

Consider the following statements about
river water system of India.

1. In Deccan Region, most of the major
river systems flowing generally in the
east fall in to Bay of Bengal.

2. The river Cauvery in the southern
peninsula has the second largest
river basin covering 10 percent of the
area of the India.

Which of the above statements is/are
correct ?

(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) None of the above
(E) Not attempted
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35.

36.

37.

38.

39.

Ghaggar-Hakra river basin is classified in
two parts, where the higher area that is
not flooded in rainy season is called

(A) Khadar (B) Kalar
(C) Bangar (D) Banjar
(E) Not attempted

The sum of ages of A and B is 72. If they
are in the ratio 23 : 13, then find the age
of B.

(A) 32 years
(C) 24 years
(E) Not attempted

(B) 46 years
(D) 26 years

What are data chunks transmitted over
the Internet called ?

(A) Frames (B) Packets

(C) Segments (D) Bytes

(E) Not attempted

Which traditional jewelry piece worn by

Haryanvi brides consists of a spherical-

shaped ornament attached to a string of
gold ?

(A) Nath

(B) Borla

(C) Koka

(D) None of the above

(E) Not attempted

In the following letter series, some of the
letters are missing which are given in that
order as one of the alternatives below it.
Choose the correct alternative.

_bc_ca_aba_c_ca

(A) abcbb
(C) baaba
(E) Not attempted

(B) bbbcc
(D) abbcc

-10-
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40.

41.

42,

43.

44,

If ‘A’means ‘+', ‘B’ means ‘—, ‘C’ means ‘+,
and ‘D’ means ‘x’, then the value of
18A12C6D2BS5 is
(A) 15

(C) 17

(E) Not attempted

Who is popularly known as the ‘Swang
Samrat’ of Haryana ?

(A) Harish Kataria

(B) Pandit Lakhmi Chand

(C) Baje Bhagat

(D) Ali Baksh

(E) Not attempted

An article is marked at ¥ 3,000 and is sold
at a 40% discount. If the shopkeeper incurs
a 10% loss on the cost price, then what
was the original cost price of the article ?
(A) 2,000 (B) ¥2,100

(C) ¥ 1,800 (D) X 2,250

(E) Not attempted

)
)
)
)

The Chalukyan style of architecture is the
unique synthesis of which of the following
styles of architecture ?

(A) Dravida and Nagara styles
(B
(C
(D
(E

Dravida and Kalinga styles
Nagara and Hoysala styles
None of the above

)
)
)
) Not attempted

What does the computer do with the input
received ?

(A) It deletes the data

(B) It processes the input and generates
output

(C) It sends the data to another computer
(D) None of the above
(E) Not attempted
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Teh 9] W 2 3,000 3ifhd B 3T I8 40%
1 e T = AT & | ATG GHMGR
T oA T 10% i M0 Bt B, o 9w

ST AR AT oI 1 o7 7

(A) % 2,000 (B) 2,100
(C) T 1,800 (D) % 2,250
(E) 3=nfEa

T aregehett reft fferfaa & @ form

ATEIhAT et T fgef dvero 8 7

(A) Zfag 3 AR Seft

(B) gfars 31 hiew e

(C) TR 3R g et

(D) ST # H Ig T

(E) 3Tomféa

T $YE oh T SR 1 Ll & 7

(A) IE 220 H! BT &

(B) I§ TAYC ! THE HIdT & 3TN 3TM3TYE
S LT B

(C) ¥8 T I T HIL T A 3

(D) STH | & Hre e

(E) 3romfda




45.

46.

47.

48.

49.

How many times in a day, are the hands
of a clock in straight line but opposite
direction ?
(A) 22
(C) 20 (D) 48
(E) Not attempted

Which number will come in the place of
question mark (?) in the following number
series ?

3,5,9, 7, 33,65
(A) 13 (B) 15
(C) 17 (D) 19

)
(E) Not attempted

What is the significance of the ‘Peeliya’
Odhani in Haryana’s customs ?

(A) Worn during marriage ceremonies
(B) Given to a bride by her in-laws

(C) Sent by parents to their daughter
after the birth of a male child

(D) Worn during harvest festivals

(E) Not attempted

Which of the following is not a storage

device ?

(A) Compact Disk (CD)

(B) Solid-State Disk (SSD)

(C) Memory card

(D) Monitor
)

(E) Not attempted

The value of (0.3)° is
(A) 0.27 (B) 27

(C) 0.027 (D) 0.0027
(E) Not attempted
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45.

46.

47.

48.

49.
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e feT o fopaHt s gl <t gEat ue weft
@t ° afer faqdia fesmatt o gt € 2
(A) 22 (B) 24
(C) 20 (D) 48
(E) 3afEa
frfafaa @ e § v fos (?) &
M T HiH-H F&I1 3R ?
3,5,9,7, 33,65
(A) 13 (B) 15
(C) 17 (D) 19
(E) ITvfra

g & farms 4 difern’ snedt =1 Fn

e ® 7

(A) ToraTe FHTIET < SR Tl ST @

(B) Goad I IHeh YU Al o G
fearn S @

(C) T A & A & g dt Sl 39h
Trar-fuar gro 9 A 2

(D) HEA HTE o BN o I T&T
ST &

(E) 3=nfEa

fr=fafea @ 9 - RS fearw
BRI

(A) HrFe feeh (H1E)

(B) Hifere-= fep (W@.Td.E.)
(C) THRY T

(D) Hifex

(E) 3=nfEa

(B) 27
(D) 0.0027
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50.

51.

52.

53.

Who among the following Haryanvi
singers was known for Ghazals in Hindi
cinema during the 1930s and 1940s ?

(A) Zohrabai Ambalewali
(B) Lata Mangeshkar
(C) Noor Jahan

(D) Kishori Amonkar
(E) Not attempted

The sum of digits of a two-digit number
is 11. If the digits are reversed, then the
new number is 9 more than the original
number. What is the original number ?

(A) 56
B
C
D
(E

) 68
(C) 45
(D) 54
) Not attempted

What is the average of first 40 natural

numbers ?
(A) 195 (B) 20
(C) 20.5 (D) 40

(E) Not attempted

What is the relationship between HCF
and LCM of two numbers aand b ?

(A) HCF +LCM =a + b
(B) HCF x LCM =a + b
(C) HCF x LCM =a x b
(D)
(E)

None of the above

Not attempted
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50.

51.

52.
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freferfiea gfwmTet TRl ®§ & 1 1930
3R 1940 % Trehi # &t fommn & ot
% fore STt et € 7

(A) STEUETS FETATAT

(B) TIdT TR

Q1 3Tehl <l Teh TEAT o 3Tehl o1 T 11 § |
Ife 37hl I 3¢ fopam SU, @ SRl
&I G 9% & 9 AfUS B | I
&I T8 ?

(A) 56

TH 40 TTh{deh TS 1 STFq =
& 7
(A) 19.5

(C) 20.5
(E) 3manfEa

(B) 20
(D) 40

QeI a 3 b 9.9.9. 3R A.49.9.
% ol w1 G99y B ?

(A) 5.9.9. + 9.9.9. =a+b
(B) 9.9.U. x.H9. =a+b
(C) HE.9. x1.9.9. =axb
(D) SWfe T & I3 TE

(E) ITvmfra



54.

55.

56.

57.

Which of the following famous battle was
fought in Sirsa district of Haryana ?

(A) Battle of Thanesar

(B
(C
(D
(E

) Second Anglo-Sikh war
) Battle of Gujarat

) Battle of Chormar

) Not attempted

Which of the following are the primary

components of a computer system ?

(A) Central Processing Unit (CPU),
Monitor, Software and Cloud Storage

(B) Operating System, Software,
Hardware and Internet

(C) Central Processing Unit (CPU),
Memory, Input/Output devices and
Storage devices

(D) None of the above

(E) Not attempted

Which computer was built at Cambridge

University in 1946 ?

(A) Universal Automatic Calculator
(UNIVAC) 1

(B) Electronic Delay Storage Automatic
Calculator (EDSAC)

(C) 1BM 701

(D) PDP-8

(E) Not attempted

Who among the following was the first
Indian-origin woman to travel to space
and was born in Karnal, Haryana ?

(A) Sunita Williams
(B
(C
(D
(E

) Santosh Yadav
) Manushi Chhillar
) Kalpana Chawla
)

Not attempted
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54.

55.

56.

57.
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g & fawen e # ffafaa @ 9

H-T1 g Ig ST AT AT ?

(A) IHER HT g

(B) Teerr et e 35

(C) ToRId =T g5

(D) IHR T g

(E) TRt

frfefaa & 9 ®F-9 Hege fawen &

yrefieh Teh & ?

(A) Tga TRt gie (Fdg.), 7,
TG 3T FA8E TR

(B) IATRfET vy, Afwed=R, g™ 37T
ErACTS

(C) Heet wfm gHe (. h.7,), i,
Y2 /3M3eYe fearsm 3t wRd
[ESIE

(D) SujHd H § 1S e

(E) 3Tvmfya

1946 T Fftss favafaame™ o -

TR ST T AT 7

(A) g SArmfes Sheeiet (UNIVAC) 1

(B) SoIRIeh oot WS 3rfamfes
Fegpeted (EDSAC)

(C) 1BM 701

(D) PDP-8

(E) 3=nfEa

frafafga o & @9 s@fe 6 aEn wE
aeft gell AR gt it afgen oft 3
TSFeRT S BRATOT o AT § g3 AT 7
(A) grrar fafermg
(B) T Area
(C) At feert
(D)

)

D) <heOdT =TT

(E) Jr9=mfea
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58.

59.

60.

61.

Which figure given in the alternatives will
complete the pattern in the figure given in
question ?

TR
? &

e

(B)

(D)

(E) Not attempted

The Sheetala Mata Fair is organized in
which district of Haryana ?

(A) Gurugram
(B) Jhajjar
(C) Ambala
(D)
)

(E

Karnal

Not attempted

Angles of a quadrilateral are in the ratio
3:4:4:7. Find the smallest angle.

Which instrument is used to measure the

wind velocity ?

(A) Odometer

(B) Thermometer

(C) Anemometer

(D)
)

(E

None of the above

Not attempted
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59.

60.

61.
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o § € S 3Tl & ded i ferehedi §
& T BIA-H Il gu w7

TR
?

e

(D)

ghamn & fre e § sfaen T Fen
TR ST 7

(A) I

(B) ISR
(C) 3
(D)
)

S CICl]
HEATA

(E) 3Tsfed

Teh IGHS o IVl I ST 3:4:4:7
2 | TEH Bl IV AG HI |

(A) 20°

(B) 60°

(C) 80°
(D) 140°
(E) 3Tsfed

Y o A o 7T foRE IUehtuT T 3T

fopa ST B 7
(A) 3TrEnfie
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62.

63.

64.

Anand and Deepak started a business
investing ¥ 22,500 and X 35,000
respectively. Out of a total profit of

% 13,800, Deepak’s share is

(A) ¥5,400 (B) ¥7,200
(C) ¥8,400 (D) ¥ 9,600
(E) Not attempted

If 6 men and 8 boys can do a piece of
work in 10 days and 26 men and 48 boys
can do the same work in 2 days, then the
time taken by 15 men and 20 boys to do
the same work will be

(A) 4 days
(B) 7 days
(C) 6 days
(D) 8 days
(E) Not attempted

Consider the following statements about
classification of climate.

1. The most widely used classification
of climate is the empirical climate
classification scheme developed by
V. Koeppen.

2. V. Koeppen identified a close
relationship between the distribution
of vegetation and climate.

Which of the above statements is/are
correct ?

(A) Only 1

(B) Only 2

(C) Both1and?2

(D) None of the above

)
)
)
(E) Not attempted
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62.

63.

64.
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e 3T E9eh 3 HA: T 22,500 R

% 35,000 1 eIt ek @ I& oA |
313,800 % HoT oY § & Tuh ol fgen
fepamm &I ?

(A) 5,400 (B) 7,200

(C) ¥ 8,400 (D) % 9,600

(E) ITvmfra

Ifg 6 T6Y 9 8 g fohell I &1 10 fem
T T Tohd 3 AT 26 &Y T 48 TSk 34T
% I 2 feT O+ Tehd &, O 15 o
3 20 TSh 3T B bl B H TeheT
g & 7

(A) 4t

(B) 7 fe

(C) 6T

(D) 8fed

(E) ITvmfra

STeTaTg o arfiento o o) H frefafaa
YA T femm =t |

1. STy 1 G699 SATTH &Y 8 FETA
foper ST aren affeRtor <. iU R

foepféa fopam o Sgvas Soery
iRt FISHT 2 |
2. &ft. iU = et 3R Sy o foawo
o+ s "fIse qeY 6 ugae 6 |
Sy A -G/ YA W /2 7
(A) haet 1
(B) haet 2
(C) 1 3R 2gHl
)
)

(D) 39 H & IS T
(E) 3=nfEa
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65. Select the correct sequence of mathematical
signs to replace the * symbol and make
the given equation correct.

Equation : 216 = 6 = 8 * 64 * 48 = 500
(A) = — x, + (B) +, +, x, —

(C) x, +,+, — (D) x, +,—, +

(E) Not attempted

66. Where is Chokhi Dhani situated in
Haryana ?

(A) Panipat

(B) Karnal

C) Sonipat
)
)

—_~ o~

D
(E

Kurukshetra
Not attempted

67. Consider the following statements about
Constitution of India.
i. Article 48 envisages States to provide
free and compulsory education.
ii. The Parliament of India brought
86™ Constitutional Amendment Act in
2006.
iii. Through 86™ Constitutional
Amendment, Article 21A is inserted
in the Constitution.

. Right to education is a fundamental
right for children between 6 to 14 years
of age.

Which of the statements given above are

correct ?

(A) Onlyiandii

(B) Only i, ii and iii

C) Only iii and iv
) All of the above
) Not attempted

(
(D
(E

17-
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65. UK fo@i 1 @&l 569 gAY S+ g
1 TfaerTiud st T GHieRoT bl TEl &1
g |
FUIRIUT : 216 = 6 + 8 * 64 * 48 = 500
(A) = — %, + (B) =, +, x,—
(C) %, +,+, — (D) x, +,—, +
(E) 3manfEa

66. N ¥ el @l et R g v

T Gige™ & 9) § fefafad see
T formm &t |
i. 3TTTRE 48 TSAT &l 316k 37
Fifrar e sge e 1 aferera
AT B |
ii. WG <h! THe 9 2006 H 86 df
TrfayTfres dene e weqa
R |
iii. 869 AT FRMNEH & HTH o
Tfgam § 3Tese 21A e foma
TR
iv. fren 1 TR 6 & 14 a9 i Y *
sl & fore ueh difaes rfusr 2 |
I eU T HoHT H H HH T A TS 7
(A) Had i 3T i
(B) wharet i, ii 3T jii
(C) whae i 3 iv
)
)

67.

(D) 3w @l
(E) 3=nfEa



68.

69.

70.

71.

A candidate who scores 20% of marks in
an exam fails by 30 marks, while another
candidate who scores 32% of the marks

gets 42 marks more than passing marks.
What is the total marks for the exam ?

(A) 300 (B) 400

(C) 500 (D) 600

(E) Not attempted

Which of the following equation
represents a straight line ?

(A) X°+y? =25
(B) 2x+3y =6
C)y=x2+4

D
(E

)
(C)
(D) None of the above
) Not attempted

The seasonal river Markanda originates

from which area of Haryana ?
(A) Aravali Hills

(B) Shivalik Hills

(C) Rajasthan Plateau
(D)
(E)

Yamunanagar Forest

Not attempted

Where is Maharana Pratap Horticulture

University located in Haryana ?
(A)
(B) Jhajjar
C)
)
)

Sirsa

(C) Sonipat
(D
(E

Karnal

Not attempted
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foptt Tdienm o U 3Efiga 20% 37 IT
F F G 30 D Y A B I B,
Ffeh G IRAGATR ST 32% 379 ST hidT
2, 39 AT 37l § 42 37k i firerd 2 |
wieT et Tohee 3ThT T B 7

(A) 300 (B) 400
(C) 500 (D) 600
(E) 3m=nfEa

frafafaa o 9 Si-a1 gt th S
@t 1 gfafafreg s @ ¢

(A) X +y?=25

(B) 2x + 3y =6

(C) y=x"+4

(D) 3T # § s T

(E) 3m=nfEa

g & fore & & HgHt 7E) Arehet
Freperdt & 7
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72.

73.

74.

75.

Match the following.

National Parks/ States
Wildlife Sanctuaries
a. Corbett National

Park i. West Bengal
b. Sunderbans

National Park ii. Uttarakhand
c. Bandhavgarh

National Park iii. Rajasthan

d. Sariska Wildlife

Sanctuaries iv. Madhya Pradesh
a b c d
(A) iii iv ii i
(B) ii i iv iii
(C) i i iv ii
(D) iv i iii ii
(E) Not attempted

Tangri river is a tributary of which river ?
(A) Yamuna

(B
(C
(D
(E

Ghaggar
Ganga
Markanda

)
)
)
) Not attempted

The common difference of the Arithmetic

.1 1-P 1-2P .
Progression —, ——, ——— ... is
P P P1
(A) —1 B 5
y
(©) 1 (D

(E) Not attempted

Which of the following Project of Haryana
is inspired by Great Green Wall of Africa ?

(A) Shivalik Green Wall Project

(B) Chandigarh Green Belt Project
(
(D
(E

)
)
C) Aravali Green Wall Project
) Haryana Forest Rebuild Project
)

Not attempted
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freaferfiea = gofera Hifsm |
T A /TS T
AT
a. hiee T 3T i. afgem STe
b. et TS ITH ii. ITES
c. WYUATG T IAH i, TTEIH

d. iR T2l ST iv. 98T el
a b c d
i v i i
i i v i

2 7<) fopm T} Y U wEEeS A8 B 2
(A) 5T

(B) TR

(C) T

(D) HREHUST

(E) e

gur o L 1P 1-2P o g
sie g PP’ P

(A) 1

(C) 1
(E) 3rfEa

gimn < fr=feRaa 4 @ s af@sen
FAfSheRT & U I ot @ AR B 7

(A) Rraferes 1fiw ater ufesmn



i

CE1G -25

English Language

Direction (Q. No. 76 and 77) : Fill in the blanks
in the following paragraph by choosing the most
appropriate alternative from the alternatives
given below it.

The cave of Ajanta and Ellora

(76)

the magnificent works of sculpture. Whoever
goes there becomes spell bound. Thousands

(77) tourists visit these places every

year. One can stay in the guest house.

76.

77.

78.

79.

80.

(A) is (B) was
(C) are (D) were
(E) Not attempted

(A) for (B) from
(C) of (D) at

(E) Not attempted

Choose the correctly spelt word from the
following alternatives.

(A) permanant (B) permenent
(C) parmanent (D) permanent
(E) Not attempted

Give one word substitute for the following
expression.

A period of ten years.

(A) Decade (B) Century
(C) Pioneer (D) Cavalry
(E) Not attempted

Choose the correct synonym of the
following word from the alternatives given
below it.

Ultimate
(A) Beginning (B) Famous
(C) Final (D) Victory

(E) Not attempted
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81.

82.

83.

84.

85.

Fill in the blank with the correct

alternative.

I for my pen. Have you seen it ?
(A) will look (B) looking

(C) look (D) am looking

(E) Not attempted

Choose the correct antonym of the
following word from the alternatives given
below it.

Blooming
(A) Mild (B) Flowering
(C) Quite (D) Fading

(E) Not attempted

Choose the correct meaning of the
following idiom or expression.

To drive home

(A) To find one’s roots

(B) To return to place of rest
(C) Back to original position
(D) To emphasise

(E) Not attempted

Fill in the blank by choosing correct
alternative from the alternatives given
below it.

He was born 1945.
(A) on (B) at
(C) in (D) for

(E) Not attempted

Choose the correct alternative to fill in the
blank with appropriate active or passive
verb forms.

It since yesterday.

(A) is raining

(B) have been raining

(C) has been raining

(D) was raining

(E) Not attempted
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86.

87.

88.

89.

90.

&=

g + 3ATd = @Wrra’ fohd Gy

‘STET hIs 7 T&dl & 39 R hed & ?
(A) e
(B)

r%é’l”agﬁaaﬁamm% ?
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o1.

92.

93.

94.
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“qH T THTRL Tgd 1 31w I &
a7 I8 G fohE ShieT T 3T @ 7

(A) TUI Ycrehret

T ¥ TE 3eg I gHT |
(A) Aferor

‘SRR T SR Welt ' 39 SAIhIfa i Tal
3 3

(A) Tt S37 | B T & 3BT 1 |
(B) TcI&T Sl THTUT <1 SATavTehal &1 |
(C) 3T IS 14 BT |

(D) ufem & & 3= %t firetan & |
(E) 3m=nfEa

S wree HHT AT T I foRivar A &,
3¢ 91 HEd @ ?

(A) D

(B) fsram fergreor

GREZL

(D) ferrwor

(E) 3anfEa
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95. TshaT o IS8 ¥4 § 9gd 9T U8 H1 %

96.

97.

TuT & T ¢ 81, 3H 91 had & 7
(A) 370 Hret

(B) ot Schret

(C) wiferer yaehret

(D) ¥q-2qHG T

(E) TSR

‘STEATAY Weg o TEl 3 1 AT |
(A) BTl fd Tg-gfe

(B) TR Tt a1 Sl b1 oot
(C) ITA-Te

(D) ¥Tg | qeh Tg el

(E) ITvmfra

‘3T U YR U1 GaTa T et 37
T |

(A) 3T BT T T |

(B) SI&MT &M |

(C) | femam =T |

(D) 3 |9 | 7 M |

(E) 3=nfEa

98.

99.

100.
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o o o

ffeiad sregl & & €Y 1 yatHar=h
368 FHT |

(A) IR

(B) @&t

(C) Xt

(D) =9
(E) 3m=nfEa

IRa § ‘Tt feaw’ e aamn Sman 8 ¢
(A) 14 foasr

(B) 15 3ferest

(C) 26 SHa

(D) 14 A=

(E) 3=nfEa

T, 3R, e, 1, 5 anfe weg fopm
e o Jiid 3T & ?

(A) feremafesiee

(B) HwaASIHH

(OREEEIPED

(D) Torarm ferreor

(E) 3anfEa
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